Efficiency vs P,

T
=
N

eficiency vs p
=

0.8~

0.6~

0.4

0.2

................................................

___________________________ :m%#

Ratio

0.8

0.6

=

o
iN

=

119 b, Gedf’

fake+duplicates vs P,

T

1

0.8

0.6

0.4

Take+dauplicates rate vs p

0.2

T
5

............................................

Ratio
@

=
o

I_original_step. ar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquarel5_step2_ttbar- ﬂhasel newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar- p

asel-newgeom_test

= 0.
2
20.09
2
50.08
o
£0.07
[}
0.06
0.05
0.04
0.03
0.02
0.01

...........................

Fme— . :

Ratio

0.8

0.6

|
W

Efficiency vs ¢

s 0.
g
20.09
2
_90.08
o
£0.07
[J]
0.06]
0.05
0.04
0.03]
0.02
0.01

T I I I T T,

LI_I_I_I_I_I_I_l%-_IT’H_I

]

Ratio

qi""

0.8t

0.7

0.6

0.5

0.4

fake+duplicates rate vs r]

0.3

0.2

Ratio

Ratio




	Contents
	Page 1


